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1 ERTA 40 41 81 8.0] 73.0 36 IAAEL 42 40 82 1.0 81.0 71 B A 42 46 88 2.0| 86.0
P NTEEES 41 39 80 6.0| 74.0 3T AT 46| 40 86 5.0 81.0 72 B AR 46| 45 91 5.0 86.0
3 FH3EH 40 41 81| 7.0 74.0 38| ZEJAk 42 45 87 6.0 81.0 73] L1 et 41| 50 91| 5.0 86.0
4 781 At 40 44 84/10.0 74.0 39| Iyt 45 46 91 10.0 81.0 74 AP EEM 48| 46 94| 8.0 86.0
5 JHERIE R 45 39 84| 9.0| 75.0 40| TEA A 46 45 91 10.0 81.0 75 A EE 46| 49 95 9.0/ 86.0
6 BT 41 43 84 9.0| 75.0 41 EATEE 44 48 92 11.0 81.0 76 R 51| 45 96/10.0 86.0
7 AT B 41 46 87 12.0| 75.0 42 ZEILHISE 47 44 91 9.0 82.0 77 KA AL 55| 43 98 12.0| 86.0
8 #AARTEX 43 40 83| 7.0 76.0 43| fif FH A e 46 46 92 10.0 82.0 78 ARAS AT 50| 49 99/13.0 86.0
9 FRHEARM 43 40 83 7.0| 76.0 44| SFHATE 44 49 93 11.0 82.0 79 HLH B 2% 47 50 97 10.0| 87.0
10 {HAFE 44 41 85 9.0 76.0 45/ A I 1 46 42 88 5.0 83.0 80 PE LK 49| 48 97/10.0| 87.0
11 /NP2 40 45 85 9.0| 76.0 46| IR 45 44 89 6.0 83.0 81 (L1 IEAS 46| 51 97/10.0| 87.0
12 e H— 41 39 80 3.0| 77.0 47 B — 47 44 91 8.0 83.0 82 Ak — 51| 47 98 /11.0| 87.0
13 SEIIBER 44 40 84| 7.0 77.0 48| TL A= 46 46 92 9.0 83.0 83 AR HITH 51| 48 99/12.0 87.0
14 #iEEE & 42 44 86 9.0| 77.0 49| )N {E AR 48 44 92 9.0 83.0 84 FFIPELE 51| 49 100/13.0| 87.0
15 £ H IS 42 44 86 9.0| 77.0 50| FitB— 45 48 93 10.0 83.0 85 F-H = 48 42 90 2.0| 88.0
16 H:-Hipk 49 41 90 13.0| 77.0 51 MRH &% 47 48 95 12.0 83.0 86 M H1aE 48| 51 99/11.0| 88.0
17 BEhde 41 43 84| 6.0 78.0 52| fEA 46 49 95 12.0 83.0 87 K& = 50| 51 101 12.0| 89.0
18 THE5% 42 45 87 9.0| 78.0 53| X HF=2 52 43 95 12.0 83.0 88 1 FH il s 55| 47 102 13.0| 89.0
19 [ AfEF] 45 42 87 9.0 78.0 54 itk 45 40 85 1.0 84.0 89 HJI|HER 47| 45 921 2.0 90.0
20 A TE 45 43 8810.0| 78.0 55 HhHFERE 42 45 87 3.0 84.0 90 fri A Fn 47 46 93] 3.0 90.0
21 PrAg st 42 41 83| 4.0 79.0 56, F IR 44 44 88 4.0 84.0 91 P 49 51 100 10.0| 90.0
22 R R 44 43 87 8.0| 79.0 57 FANIEAT 50 42 92 8.0 84.0 92 HE)IF= 55 47 102/12.0 90.0
23 PaAE 39 49 88 9.0 79.0 58| B BIL 43 49 92 8.0 84.0 93 IaA—F 51| 52 103 13.0| 90.0
24 [ % = 44 45 8910.0] 79.0 59| H1PL SR 47 46 93 9.0 84.0 94 F1 40 53 50 103/13.0] 90.0
256 AT H 44 45 89/10.0 79.0 60| il A% 48 46 94 10.0 84.0 95 MEAMITT 45| 47 92| 1.0 91.0
26 FH - 47 42 8910.0| 79.0 61 T A2 50 44 94 10.0 84.0 96 /NFRET- R 51| 54 105/13.0| 92.0
27 JRY A 49 42 91 12.0] 79.0 62 i H &= 45 50 95 11.0 84.0 97 JNEY) 54| 52 106/13.0] 93.0
28 KB SCIE 51 41 92/13.0 79.0 63| 1L 49 46 95 11.0 84.0 98/ /IMIFEA 51| 54 105 11.0| 94.0
PLIMAN /N 50 42 9213.0| 79.0 64| 1@ FLIHI 48 48 96 12.0 84.0 99 o 2 @h 51| 56 10713.0| 94.0
30 TEAUA 46 46 9213.0| 79.0 65 1 73 47| 50 97 13.0 84.0 100 i 49| 58 10713.0| 94.0
31 FH—1R 42 45 87 7.0 80.0 66| V4 )I1Z 2 45, 45 90 5.0 85.0 101 (F85 5% 56 47 103 8.0/ 95.0
32 RREFFIE 40 47 87 7.0/ 80.0 67/ i ] 48 45 93 8.0 85.0 102+ HHEZ 53| 53 106 11.0| 95.0
33 iz 43 45 83 8.0/ 80.0 68 FEFEIA 48 49 97 12.0 85.0 103 R HTE 57| 48 105/ 9.0| 96.0
34 ARATE 7] 48 40 88 8.0 80.0 69| 12 H A 49 48 97 12.0 85.0 104 (L A= 55| 56 111/12.0) 99.0
35 WEAR R — 47 44 91/11.0 80.0 70| ARFT 3R 43 43 86 0.0 86.0 105 H 7587 AR 61 56 117 12.0/105.0
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